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QUESTION 1

Which of the following is one of the three market-based mechanisms created by the Kyoto Protocol?
A. Carbon credit initiative.

B. Emissions trading.

C. Footprint reduction fund.

D. Carbon neutral implementation

Correct Answer: B

QUESTION 2

How much energy is used by a PC screen saver?

A. The same as a standard office application.

B. Half the power of a standard office application.

C. One third the power of a standard office application.
D. Twice the power of a standard office application.

Correct Answer: A

QUESTION 3

Which of the following will deliver a uick win?when reducing PC power consumption?
A. Installing CRT displays on all PCs.

B. Enabling screen savers on all PCs.

C. Disabling sleep mode on all PCs.

D. Placing witch offl?stickers on all PCs.Placing ?witch off!?stickers on all PCs.

Correct Answer: D

QUESTION 4
Which of the following is one of the three market-based mechanisms created by the Kyoto Protocol?
A. Emissions trading.

B. Carbon credit initiative.
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C. Footprint reduction fund.
D. Carbon neutral implementation.

Correct Answer: A

QUESTION 5

Which of the following are business benefits of replacing paper-based work processes?
a.

The ability to access electronic documents quickly.

b.

The ability to view documents at home and the office.
C.

The ability to reduce the amount of storage space.

d.

The ability to decrease the time spent in meetings.

A.

candd.

B.

a, b andc.

C.

b, c and d.

D.

aand d.

Correct Answer: B
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